Yl

PLASTIC SCREW

IRz s

SCREW BONNET

R85 22

SET SCREW

—LENE 7Y

THUMB SCREW

R INZER O

PLASTIC HARDWARE& ELECTRONIC COMPONENTS

2023 EDITON







A
il
m\m







10

04

EElagee YRR BERVIBRIRYL YBHIRIE BBHIRIE URAZIRE IH{TIRY: EEIRET IR
IRLLNEES FIRIRLL FITIRYL RTEIRYL FIEE FIFIRE




¥EE|4822 Plastic Screw ¥8pkiE2%

M9.5X1.0P

+ MATERIAL : PC(UL)
+ FLAME CLASS : 94V-2,94V-0
+ COLOR : BLACK
¢+ UNIT: mm

— 2

3]

& BpeR, BTISERERRE
FERIEIRE.

PART NO PACKAGE
LMKO001 1000

*

*

*

*

N

a]
=

<
THREAD —L

MATERIAL : PC(UL)/NYLON 66(UL) FRI&: EBRIRZZ, RITEREFASH

FLAME CLASS : 94V-2,94V-0

COLOR : NATURAL/BLACK

T, EBR, MEH.

UNIT: mm
PARTNO A B C THREAD PACKAGE
LMKO051 48 | 1.2 5.3 | M3X0.5P 1000
LMKO052 42 | 17 6.0 | M3X0.5P 2000
LMKO053 60 | 1.3 56 | M3X0.5P 1000
LMKO054 80 | 16 56 | M3X0.5P 1000
LMKO055 80 | 20 7.6 | M4X0.7P 1000
LMK056 | 10.0 | 1.6 56 | M3X0.5P 1000
LMK057 | 10.0 | 2.0 7.6 | M4X0.7P 1000
LMK058 | 12.0 | 1.6 56 | M3X0.5P 1000
LMK059 | 12.0 | 2.0 7.6 | M4X0.7P 1000
LMK060 | 14.0 | 1.6 56 | M3X0.5P 1000
LMKO061 14.0 | 2.0 7.6 | M4X0.7P 1000
LMK062 | 148 | 2.5 9.1 M5X0.8P 1000
LMK063 | 16.0 | 2.0 7.6 | M4X0.7P 1000
LMK064 | 18.0 | 2.7 | 7.65 | M4X0.7P 1000
LMK124 50 | 16 5.3 | M3X0.5P 1000

10

05



MATERIAL : PC(UL)/NYLON 66(UL) Fi&: ¥BRHRZ2, BATEESFELEEZMN
FLAME CLASS : 94V-2,94V-0 T, EER, MEH.
COLOR : NATURAL
UNIT: mm

THREAD

LMKOO2 | 3.0 | 14 | 33 | M2x04P | 2000 LMKO30 | 120 14 | 3.3 | M2X04P | 2000
LMKO003 4.0 1.4 3.3 M2X0.4P 2000 LMKO031 120 | 21 5.5 M3X0.5P 1000
LMKOO4 | 40 | 15 | 43 |M2.6X045P 2000 LMKO32 120 25 | 7.0 | MaXo7P | 1000
K005 | 20 | 21 1 55 | Maxose | 2000 LMKO33 | 127 | 24 | 52 | 4-40UNC | 1000
LMKOO6 | 475 1.8 | 58 | 4-40UNC | 2000 LMKO34 | 127 | 25 | 67 | 6-32UNC | 1000
MK007 | 50 | 14 | 33 | m2x04r | 2000 LMKO35 | 14.0 25 | 7.0 | M4X0.7P | 1000
MK008 | 65 | 14 | 33 | m2x04r | 2000 LMKO36 | 150 @ 21 | 55 | M3X0.5P | 1000
MK009 | 50 | 21 | 55 | Maxose | 2000 LMKO37 | 155 | 24 | 52 | 4-40UNC | 1000
MK010 | 60 | 12 | 33 | m2x04r | 2000 LMKO38 | 159 | 25 | 6.7 | 6-32UNC | 1000
LMKO11 | 6.0 | 15 | 4.3 |M2.5X045P 2000 LMKO39 | 150 | 14 | 3.3 | M2X04P | 1000
LMKO12 | 6.0 | 15 | 4.3 |M2.6X045P 2000 LMKO40 160 | 25 | 7.0 | MaXo7P | 1000
k013 | 60 | 21 | 55 | Maxose | 2000 LMKO41 | 17.0 21 | 55 | M3X0.5P | 1000
MKo14 | 60 | 25 | 70 | maxo7p | 1000 LMKO42 | 180 21 | 55 | M3X0.5P | 1000
MK015 | 64 | 24 | 52 | 4a20unc | 2000 LMKO43 | 194 | 255 | 67 | 6-32UNC | 1000
LMKO16 | 635 25 | 67 | 6-32UNC | 2000 LMKO44 1200 | 21 | 55 | M3X0.5P | 1000
k017 | 65 | 14 | 33 | m2xo4r | 2000 LMKO45 | 200 25 | 7.0 | M4X0.7P | 1000
k018 | 80 | 14 | 33 | m2xo4r | 2000 LMKO46 | 200 3.6 | 91 | M5X0.8P | 1000
LMKO19 | 80 | 15 | 4.3 [M2.6X045P 2000 LMKO47 1250 | 21 | 55 | M3X0.5P | 1000
MKk020 | 80 | 21 | 55 | Maxose | 2000 LMKO48 | 250 25 | 7.0 | M4X0.7P | 1000
k021 | 80 | 25 | 70 | maxo7p | 1000 LMKO49 | 300 25 | 7.0 | M4X0.7P | 1000
Mkoz2 | 80 | 24 | 52 | a20unc | 2000 LMKO96 | 140 21 | 55 | M3X0.5P | 1000
k023 | 80 | 25 | 67 | e32unc | 2000 LMKO50 | 350 25 | 7.0 | M4X0.5P | 1000
ko2 | 95 | 24 | 52 | a20unc | 1000 LMK118 | 40 | 15 | 43 M25X0.45P 2000
Mko25 | 95 | 25 | 67 | 6320ne | 2000 LMK119 | 50 | 15 | 4.3 M25X0.45P 2000
K026 |1 100 | 14 | 33 | M2x04r | 2000 LMK120 | 80 & 1.5 | 4.3 M25X0.45P 2000
LMKO27 | 100 | 15 | 4.3 |M2.6X0.45P 2000 LMK121 | 100 | 1.5 | 43 |M2.5X045P| 2000
K028 1 1001 21 | 55 | Maxose | 1000 LMK122 | 130 15 | 6.3 M25X0.45P 2000
LMKO29 | 10.0 | 25 | 7.0 | M4X0.7P | 1000 LMK123 [300] 21 | 55 | M3x05P | 1000

LMK213 7.0 24 5.2 | 4-40 UNC 1000



¥B§l1842 Plastic Screw ZB[EL

MATERIAL : PC(UL)/NYLON 66(UL) Fi&: ¥R, BFEEESREN

FLAME CLASS : 94V-2,94V-0 TeE, S8R, TR,
COLOR : NATURAL/BLACK

UNIT: mm

*

*

*

*

PARTNO A B C THREAD  PACKAGE
LMKO065 69 | 22 | 10.0 A M3.5X0.6P 1000

LMKO066 6.7 | 25 | 6.35 | 6-32UNC 2000

LMKO067 5.2 2.1 6.4 | 4-40 UNC 2000

LMKO068 6.7 2.5 8.0 | 6-32UNC 2000

LMKO069 5.2 2.1 8.0 | 4-40 UNC 2000

LMKO070 6.7 | 25 9.5 | 6-32UNC 1000

LMKO071 50 | 21 9.5 | 4-40 UNC 2000

LMKO072 6.7 | 25 | 127 | 6-32UNC 1000

LMKO073 5.2 21 12.7 | 4-40 UNC 1000

THREAD LMKO74 | 6.9 | 22 | 150  M3.5X0.6P| 1000

LMKO075 6.7 | 25 | 1569 | 6-32UNC 1000

LMKO076 52 | 21 15.5 | 4-40 UNC 1000

LMKO77 6.7 | 25 | 191 | 6-32UNC 1000

LMKO78 69 | 22 | 20.0 1M3.5X0.6P 1000

LMKO079 69 | 22 | 250 1 M3.5X0.6P 1000
LMK082 69 | 22 | 30.0 M3.5X0.6P 1000

OA

B

IS) PARTNO A B C THREAD  PACKAGE
LMKO080 6.7 25 | 254 | 6-32UNC 1000

THREAD
LMKO081 6.7 | 25 | 28.0 | 6-32UNC 1000

* MATERIAL : NYLON 66(UL) Fig: fEpliRy, ETERRASH
+ FLAME CLASS : 94V-2,94V-0 T4, B2, WEH.
¢+ COLOR : NATURAL/BLACK
¢+ UNIT: mm
C 28

e SCREW DRIVER: PHILLIPS

- 10
= PARTNO  PACKAGE

M4X0.7P 4\_1 LMKO083 1000

07



10

08

$242 Plastic Screw ¥BEXIEZZ

+ MATERIAL : PC(UL)

+ FLAME CLASS : 94V-2,94V-0
¢+ COLOR : TRANSPARENT

¢+ UNIT: mm

B

@84
S 17
=

8

M6X1P

—

Fi&: BRiIRZ, BTEEHEBRSH

=, EBR, MR,

PART NO
LMKO084 500

PACKAGE

*

MATERIAL : NYLON 66(UL)
FLAME CLASS : 94V-2,94V-0
COLOR : NATURAL/BLACK
UNIT: mm

*

*

*

@

<
M2X0.4P 7

M2X0.4P

Fig: BHiRZ, BTEERESH

T, EER, MR,

PART NO A PACKAGE
LMKO085 6.0 1000
LMKO086 8.0 1000
LMKO087 10.0 1000
LMKO088 12.0 1000

LMK156 3.8 1000
LMK157 4.8 1000
LMK158 5.8 1000
LMK159 6.8 1000
LMK160 7.8 1000
LMK161 8.8 1000
LMK162 9.8 1000
PART NO A PACKAGE
LMK132 14.8 1000




MATERIAL : NYLON 66(UL) FAi&: EERMZEZZ, BTEERREN
FLAME CLASS : 94V-2,94V-0 T, EEZ, MRS,
COLOR : NATURAL/BLACK

UNIT: mm

045 | me .
o)} L

s <
M2.5X0.45P %
—L M3X0.5P

M2 .5X0.45P
LMK 154 5.0 2000 LMK164 4.0 2000 LMK215 1000
LMK163 12.0 2000 LMK165 16.0 2000

LMKO089 50 | 20 | 55 | M3X0.5P | 1000

LMK090 6.0 | 20 | 55 | M3X0.5P | 1000

LMK091 8.0 | 20 | 55 | M3X0.5P | 1000

LMK092 10.0 | 2.0 | 5.5 | M3X0.5P | 1000

THREAD LMK093 12.0 | 2.0 | 5.5 | M3X0.5P | 1000

LMK094 70 | 27 | 7.0 | M4X0.7P | 1000

LMKO095 10.0 | 2.7 | 7.0 | M4X0.7P | 1000

LMK214 120 | 1.7 | 5.4 | M3X0.5P | 1000




kB2 Plastic Screw ZBEIE2%

+ MATERIAL : PC(UL) Big: BRHRZ2, BTREESHES
+ FLAME CLASS : 94V-2,94V-0 T4, BEER, WEH,
+ COLOR : TRANSPARENT
+ UNIT: mm
76.4

[N © i PART NO A PACKAGE
o
LMK098 9.5 1000
LMK099 12.0 1000
M4X0.7P
LMK131 20. 1000
+ MATERIAL : NYLON 66(UL) Big: BRiRZ, BTFEESESMN
+ FLAME CLASS : 94V-2,94V-0 Tk, BER, WEH,

¢+ COLOR : NATURAL/BLACK

+ UNIT: mm UL
)

(en]
%\i
<

M4X0.5P
N

z o
u..‘ A‘/,

5
R

1%

M5X0.8P PART NO A PACKAGE
LMK105 6.0 2000
d
T PART NO A PACKAGE LMK107 8.0 2000
< LMK169 16.0 1000 LMK110 10.0 2000
M3X0.5P J
LMK170 25.0 1000 LMK111 12.0 2000
PART NO A PACKAGE @
I~
LMK101 6.0 2000 N |
LMK102 8.0 2000 i :
LMK103 10.0 2000 L1 _
LMK104 12.0 2000 Jﬂ_ ]
LMK168 4.0 2000 = | <
/% N 6-32 UNC
M6X1P — &= |
PART NO PACKAGE PART NO A PACKAGE
LMK133 2000 LMK106 6.35 2000
LMK108 8.0 2000
10
A LMK109 9.5 2000
LMK112 12.7 2000
10



¥EE|4822 Plastic Screw ¥8pkiE2%

*

*

*

*

Bz, BTEERBRSN
=, BEEBR, MR

MATERIAL : NYLON 66(UL) Fai%:

FLAME CLASS : 94V-2,94V-0
COLOR : NATURAL/BLACK
UNIT: mm

213

°+°+

*

*

PART NO PACKAGE
é @
M4X0.7P — LMK100 500
+ MATERIAL : NYLON 66(UL) Big: BRiRZ, BTFEESESMN

FLAME CLASS : 94V-2 i, EER, mEH.

COLOR : BLACK

*

*

*

¢+ UNIT: mm
@4.6
g 2
N PART NO A PACKAGE
é - LMK166 6.0 2000
M2_5X0_45Pé\ LMK167 8.0 2000
+ MATERIAL : NYLON 66(UL) FRig&: BRiRY, BTFEERASMN

FLAME CLASS : 94V-2 T, EER, MWEH.

COLOR : BLACK

UNIT: mm
E@BGJ
™~

PART NO A PACKAGE

LMK113 45 2000
LMK114 5.5 2000
[T
NV LMK115 6.5 2000
< LMK116 75 2000
M2X0.4P
| LMK117 8.5 2000

10

11



¥B§juBe2 Plastic Screw ¥BBRIRZZ

+ MATERIAL : PP(UL) Bi&: BRiRzz, BFEHE. HKKRk
+ FLAME CLASS : 94HB PCIRAVERE.
+ COLOR : BLACK/WHITE
+ UNIT: mm
=~ @12 -

PART NO PACKAGE
LMK125 1000

g’
M~
M4X0.7P—] 22 PART NO PACKAGE
LMK126 1000
+ MATERIAL : PE (UL) Bi&: BRiRZ, BTFEH. KKKk
+ COLOR : NATURAL/BLACK PCHRBIEE.

+ UNIT: mm

PART NO PACKAGE
LMK127 1000

Ls-la

M4X0.7P

o
<
w
§§ i PART NO PACKAGE
10 M4X0.7P — @5 = LMK128 1000

12



kB2 Plastic Screw ZBEIE2%

+ MATERIAL : NYLON 66(UL) Big: BRIRZZ, BTFEH. KKKk
+ FLAME CLASS : 94V-2,94V-0 PCIRAIEIRE.
\ + COLOR : NATURAL/BLACK
+ UNIT: mm
@10
PART NO PACKAGE
LMK129 2000
+ MATERIAL : PC(UL) Big: BRiRZ, BTFEESESMN
+ FLAME CLASS : 94V-2/94-0 Tk, BER, WEH,
+ COLOR : TRANSPARENT
+ UNIT: mm
@25
[Yp]
I\: o
PART NO PACKAGE
M2X0. 4Pj% _ LMK130 2000
+ MATERIAL : NYLON 66(UL) Fig: BFHRZ, BTEREFRASH
+ FLAME CLASS : 94V-2/94V-2 T, EER, MWEH.
: + COLOR : BLACK/NATURAL
-
= B + UNIT: mm
212
—f—f
o = PART NO  PACKAGE
M4X0.7P - LMK134 1000

10

13



¥E§|iB22 Plastic Screw YEESiBLY

+ MATERIAL : PC(UL) Bi&: BRiRZ2, BTFEEHHES
pr <= * FLAME CLASS : 94V-2/94V-0 =, EER, WS,
: + COLOR : TRANSPARENT
+ UNIT: mm
@9

PART NO PACKAGE

MEX1P LMK135 1000
+ MATERIAL : NYLONG 66(UL) Big: Bpigy, BFEEEfES
+ FLAME CLASS : 94V-2/94V-0 Ty, =22, WEM,
+ COLOR : NATURAL/BLACK
+ UNIT: mm
EWBSJ
[Te]
PART NO PACKAGE
M~
M8X1.25P > LMK139 1000
@acC
@8-‘
ﬁﬂ
<C
M4X0.7P THREAD
PART NO PACKAGE PARTNO A B C THREAD PACKAGE
10 LMK136 1000 LMK137 | 16.0| 3.5 | 15.0 M6X1P 1000

LMK138 | 20.0 | 5.0 | 18.5 | M8X1.25P 500

14



¥EE|4822 Plastic Screw ¥8pkiE2%

+ FLAME CLASS : 94HB
+ COLOR : BLACK
+ UNIT: mm

M1.2X0.25P

@2.7

M1.6X0.35P

¢+ MATERIAL : NYLON 66(UL)+GF

Bi&:

Bz, BTEERBRSN

=, BEEBR, MR

PART NO A

PACKAGE

LMK140 25 1000
LMK141 3.0 1000
LMK142 4.0 1000
LMK143 5.0 1000
LMK144 6.0 1000

PART NO A

PACKAGE

LMK145 4.0 1000
LMK146 5.0 1000
LMK147 6.0 1000
LMK148 7.0 1000
LMK149 8.0 1000
LMK150 9.0 1000
LMK151 10.0 1000
LMK152 3.0 1000
LMK155 4.5 1000

+ MATERIAL : PE
+ COLOR : BLACK
+ UNIT: mm

F

& BpeRsz, BTEERESN
=, 28R, MEM.

PART NO

LMK153

PACKAGE
500

10

15



¥B¥lI842 Plastic Screw ¥BBRiEZZ

\ ‘ UNIT: mm
- PART NO A PACKAGE
\ ‘ LMK171 4.0 1000

MATERIAL : PEEK (UL) Bi&: BRiRZ2, BTFEEHHES
FLAME CLASS : 94V-0 i, EER, WEH.
COLOR : NATRUAL

*

*

*

*

LMK172 5.0 1000
@35.5 LMK173 6.0 1000
LMK174 8.0 1000
LMK175 10.0 1000
N LMK176 12.0 1000
‘ LMK177 14.0 1000
R
LMK178 15.0 1000
< LMK179 17.0 1000
M3X0.5P N LMK180 18.0 1000
LMK181 20.0 1000
LMK182 25.0 1000
LMK183 30.0 1000
PART NO A PACKAGE
LMK184 4.0 1000
6 LMK185 5.0 1000
LMK186 6.0 1000
:IEF LMK 187 8.0 1000
LMK188 10.0 1000
= LMK189 12.0 1000
NIV LMK190 14.0 1000
LMK191 15.0 1000
= LMK192 17.0 1000
M3X0.5P N § LMK193 18.0 1000
LMK194 20.0 1000
LMK195 25.0 1000
LMK196 30.0 1000

10

16



¥E¥liBY¢ Plastic Screw EEEUEZ

+ MATERIAL : NYLON 66(UL) FRi&k: #EpNRLZ, REMRYFRTERE
+ FLAME CLASS : 94V-2/94V-0 BRENEYE, BEER, ME
+ COLOR : BLACK/NATURAL T,

¢ UNIT: mm

THREAD

PART NO A THREAD PACKAGE

LSSI-5 6.0 M4X0.7P 2000
M3X0.5P

LSSI-6 6.35 | 6-32UNC 2000

LSSI-7 8.0 M4X0.7P 2000

PART NO A PACKAGE
6.0 LSSI-8 8.0 6-32 UNC 2000

LSSI-1 2000
L SS12 8.0 2000 LSSI-9 95 | 6-32UNC | 2000
LSSI-3 10.0 2000 LSSI-10 | 10.0 | M4X0.7P | 2000
LSSI-4 12.0 2000 LSSI-11 | 120 | M4X0.7P | 2000

LSSI-12 12.7 | 6-32 UNC 2000

+ MATERIAL : POM Bi&: BruRz2, BFEEFESZN

+ COLOR : BLACK T, BER, WEM.
+ UNIT: mm

4.28

PART NO PACKAGE
1/4-20 UNC LMK197 500

*

MATERIAL : NYLON 66(UL) Bi&: BruZRZ2, BFEEFEEN
HEAD FLAME CLASS : 94V-0+GF T, EER, WEH,

COLOR : BLACK
UNIT: mm

*

*

~@8.5~

*

@
™

]
@5
'
«©
éﬁ
©
MoX08P" &= | | LMK198 250

5

10
PARTNO  PACKAGE .

17




MATERIAL : NYLON 66 (UL) FRig: PERlZYZ, BTREERHESZ
FLAME CLASS : 94V-0/94V-2 Y, 2ER, MEH,
COLOR : NATRUAL/BLACK

UNIT: mm

1/4-20 UNC

LMK 199 1000
MATERIAL : PEEK (UL) Fig: PErlZYZ, BTREERRESZ
FLAME CLASS : 94V-0 S, 2R, Bk,
COLOR : NATRUAL
UNIT: mm
LMK200 4.0 2000
LMK201 5.0 2000
~@5.5—+
LMK202 6.0 2000
_ :gp | LMK203 8.0 1000
K/ - LMK204 10.0 1000
T TT LMK205 12.0 1000
= LMK206 14.0 1000
M3X0 5P j LMK207 15.0 1000
LMK208 17.0 1000
LMK209 18.0 1000
LMK210 20.0 1000
LMK211 25.0 1000

LMK212 30.0 1000



¥EE4222 Plastic Screw EBUEZL

10

19



MATERIAL : NYLON 66 (UL)/PC(UL) Fli&: ZERMZNE, tHFREERMRNE, AC
FLAME CLASS : 94V-0/94V-2 B IRIRL e B RLL(E R,
COLOR : NATRUAL

UNIT: mm

MKO001 3.95 1.4 M2X0.4P 2000

MKO002 5.0 2.0 | M2.6X0.45P 2000

MKO003 5.5 2.7 M3X0.5P 2000

MKO004 5.9 2.8 M3.5X0.6P 2000
MKO005 6.9 3.3 M4X0.7P 1000
MKO006 8.0 4.4 M5X0.8P 1000
MKO007 10.0 5.0 M6X1.0P 1000
= i MKO008 7.9 3.2 6-32 UNC 1000
é} ‘ E? MKO009 6.4 2.5 4-40 UNC 1000

\ THREAD MKO014 7.0 25 M4X0.7P 1000
MKO015 3.95 3.0 M2X0.4P 2000
MKO016 5.4 24 M3X0.5P 2000

MKO039 5.0 2.0 | M2.5X0.45P 2000

MATERIAL : NYLON 66 (UL) FAi&: ZERMRNE, thFREERMENE, BC
FLAME CLASS : 94V-0/94V-2 B IRIR22 e PBRIR22(F .,
COLOR : NATRUAL/BLACK

UNIT: mm

THREAD

MKO010 8.5 54 3.7 0.8 M3X0.5P 1000
MKO011 8.5 5.4 3.2 0.8 M3X0.5P 1000

MKO012 9.7 6.9 4.5 0.9 M4X0.7P 1000

MKO013 10.6 7.8 4.2 1.0 | 6-32UNC 1000



EEEMRIE NUT EERMZE ¥BEIEIE

+ MATERIAL : NYLON 66(UL) FRi&k: EERMZNE, DAREBRMENE, B
+ FLAME CLASS : 94V-2/94V-0 Bk AEEa IBRMRLZ(F .
+ COLOR : BLACK/NATURAL

¢ UNIT: mm

PART NO PACKAGE
M12X0 5P MKO017 2000

) 1
/|

M12X0.75P
w
~
) PARTNO  PACKAGE
S MKO040 1000
+ MATERIAL : NYLON 66(UL) Big: IBRMRNE, thFREEFRMRNE, B
+ FLAME CLASS : 94V-2/94V-0 B—IRIRZ2 BB (F,
j + COLOR : BLACK/NATURAL
\§ + UNIT: mm
. 738
@4
M12
’HGSOj

1

oL
? ~ o PARTNO  PACKAGE
l MK020 100

10

21



EBEAE NUT 2EREMRE SBEIEIE

+ MATERIAL : NYLON 66 (UL) Fi&: ¥ERMZRNE, tHAREERMERNE, B
+ FLAME CLASS : 94V-0/94V-2 B IRIRLL e PERR L2 (E R,
+ COLOR : NATRUAL/BLACK

+ UNIT: mm

@2 4 FOR M3 SCREW

L PARTNO  PACKAGE
L MKO023 500
) <
7 l
PARTNO A THREAD  PACKAGE
MKO024 17.0 M10X1.5P 500
MKO035 17.9 M12X1.5P 1000

PART NO A B THREAD PACKAGE

THREAD MKO025 171 5.0 PG7 1000
MKO026 22.0 5.1 PG9 1000
MKO027 24.0 6.1 PG11 1000

MKO028 27.2 6.1 PG13.5 1000

PART NO THREAD PACKAGE
MKO029 M2.6X0.45P 1000

MKO030 M2.5X0.45P 1000

THREAD

10

22



EEEMRIE NUT EERMZE ¥BEIEIE

+ MATERIAL : NYLON 66(UL) FRi&k: EERMZNE, DAREBRMENE, B
+ FLAME CLASS : 94V-2/94V-0 Bk AEEa IBRMRLZ(F .
+ COLOR : BLACK/NATURAL

¢ UNIT: mm

PART NO A B C THREAD PACKAGE
MKO031 27.0 6.6 | 29.8 | M20X1.5P 500

THREAD MKO032 33.0 8.5 | 36.2 | M25X1.5P 500

MKO033 22.0 6.6 | 24.7 H M16X1.5P 1000

MKO034 41.0 76 | 46.4 | M32X1.5P 100

MKO043 33.0 6.6 | 354 | M25X1.5P 500

=2

=== ﬁf

/" THREAD

i
&)
i

PART NO A B C D THREAD  PACKAGE
MKO037 13.0 | 100 | 6.8 | 1.65 M6X1P 2000

MKO038 170 | 13.0 | 85 1.9 | M8X1.25P 1000

+ MATERIAL : NYLON 66(UL)/PP FRi%: ZBRMRNE, thFREERMRNE, B
+ FLAME CLASS : 94V-2/94V-0 B ARIRZ B YBR R 22 (SE .,
+ COLOR : BLACK/NATURAL
+ UNIT: mm

<C

PART NO A C THREAD PACKAGE
MKO018 14.0 4.1 16.0 | M13X1.0P 1000

MKO019 38.2 | 11.7 | 422 PF1-11 100

MKO041 12.0 5.0 | 13.0 | M8X1.0P 1000

MKO042 36.6 8.2 |41.15 | M32X1.5P 500

10

23



MATERIAL : NYLON 66 (UL) & ZBENBNE, thfRIANRg, &
FLAME CLASS : 94V-0/94V-2 B IRIRL e B RLL(E R,
COLOR : NATRUAL/BLACK

UNIT: mm

LSMO-1 15.96 | 5.0 8.0 6.4 M3X0.5P 1000
LSMO-2 215 8.0 | 10.1 | 10.0 | M4X0.7P 1000

LSMO-3 22.0 8.0 | 10.5 | 10.0 | 6-32UNC 1000

LSMO-4 21.0 8.0 | 10.0 | 10.0 | 8-32UNC 1000



1E{Fi822 Set Screw 'ZEIBE] WFiELL

B + MATERIAL : PC (UL) FRi&: IEfH9R2z, HAREEIRET,
e * FLAME CLASS : 94V-2/94V-0 higezEE, 4%, BB
+ COLOR : TRANSPARENT 2, IS,
¢+ UNIT: mm
84 P

=) PART NO A PACKAGE

T THLS-1 6.0 2000
THLS-2 8.0 2000
M6X1P THLS-3 10.0 2000
+ MATERIAL : PC (UL)
+ FLAME CLASS : 94V-2/94V-0
+ COLOR : BLACK
+ UNIT: mm
108
To-ﬁ @

o f
@
© o~
M3X0.5p M4X0.7P

PART NO PACKAGE PART NO PACKAGE
THLS-4 2000 THLS-5 2000

+ MATERIAL : NYLON 66 (UL)
+ FLAME CLASS : 94V-2/94V-0
+ COLOR : BLACK/NATUAL

¢+ UNIT: mm

PART NO PACKAGE

M5X0.8P THLS-6 2000

10

25



1HfF18%2 Set Screw EEIZE] AFiIEL

7 B + MATERIAL : NYLON 66 (UL) FRi&: L1822, tHFREEIRET,
= 9 * FLAME CLASS : 94V-0/94V-2 PR ZEIRE, 5, BB
<" + COLOR : NATRUAL/BLACK &, MR,

' + UNIT: mm
(’
Q@ & 0.5
& (‘ J_
N
i

24

M3X0.5P %ﬁ PART NO PACKAGE
THREAD S & THLS-7 2000

10

26



1244083 Screw Cap

+ MATERIAL : NYLON 66 (UL) FRi&k: MR85, BFIRLNEZIR
+ FLAME CLASS : 94V-2/94V-0 P, EMAEIFE, BERAHA
+ COLOR : NATURAL/BLACK ZHRED,

¢ UNIT: mm

PART NO A D PACKAGE
KSCW-001 9.8 8.0 3.3 1.3 1000
KSCW-002 ' 133 | 116 | 4.3 1.4 1000

OO

- @14 @112+ ™

L Igs55 KSCW-003 1000
* MATERIAL : NYLON 66 (UL) FRi&: MR%2085%, oS —MiIRL, (F
+ FLAME CLASS : 94V-2/94V-0 FHBLy (R,
+ COLOR : BLACK/NATUAL
¢ UNIT: mm

PARTNO A B C THREAD PACKAGE

KSCW-005 | 6.0 | 3.0 | 5,5 | M3X0.5P 1000

KSCW-006 | 8.0 | 4.0 | 7.7 | M4X0.7P 1000

PN

\
/

PART NO PACKAGE
M2.5X0.45P KSCW-012 1000 10

27



10

28

1244083 Screw Cap

-

*

MATERIAL : NYLON 66 (UL)
FLAME CLASS : 94V-0/94V-2
COLOR : NATRUAL/BLACK
UNIT: mm

*

*

*

M3X0.5P

f

i
Nl
)

~@7.74

;M4XO.7P

M5X0.8P

L1 26.5
L
Q
|

Bi&:

1ReERs, ECo—ARIRZ, R
JIMRLLEER,

PART NO PACKAGE
KSCW-007 1000
PART NO PACKAGE
KSCW-013 1000
PART NO PACKAGE
KSCW-008 1000
PART NO PACKAGE
KSCW-017 1000

PART NO

PACKAGE

KSCW-016 1000




I222EES Screw Cap

-

+ MATERIAL : PBT Bi&: 1222088, EE—RIR%L, 1F
+ COLOR : BLACK FoRLLE(E,
+ UNIT: mm
- 11.8
—4 5 @14
:j
IHHHl' : )‘ <o
L S o
L PART NO  PACKAGE
\M6x1 P KSCW-015 1000
+ MATERIAL : NYLON 66 (UL) Fig: 1B408%, BE—RIBRZ, 1F
+ FLAME CLASS : 94V-2/94V-0 By (e,
+ COLOR : BLACK/NATUAL

+ UNIT: mm

PART NO PACKAGE
KSCW-014 1000

PART NO PACKAGE
MB6X1P KSCW-018 1000

—~ 38 - 9.5
‘ o~
indll PARTNO  PACKAGE
KSCW-019 1000

10

29



10

30

1222185 Screw Cap

*

MATERIAL : NYLON 66 (UL) Bi&:
FLAME CLASS : 94V-0/94V-2

COLOR : NATRUAL/BLACK

UNIT: mm

1R, ATIRANHZR
P, EMAEIF, BRAZH
ZARED.

*

*

*

MOUNTING HOLE

PART NO  PACKAGE
KSCW-011 1000
6-32 UNC
t r @11 .Bﬂ |
[Te]
- L 9. 84 E PART NO PACKAGE
KSCW-010 1000

-
&
4
&

+ MATERIAL : SILICON RUBBER k. 1Bu0EE, Bia—RRige, {F

+ COLOR : BLACK FonRsL =M,
+ UNIT: mm
10—
2= * T M8igss

ey VN

: =< . i PART NO PACKAGE

L ISR S : '

= ! T KSCW-009 1000

A
—

JENE P

KSCW-020
KSCW-020 1000

PACKAGE KSCW-020

KSCW-021 1000

PACKAGE




1222185 Screw Cap

+ MATERIAL : NYLON 66 (UL) Bi&: 1222085, BHELNHZR
+ FLAME CLASS : 94V-0/94V-2 P, EMAEFE, BERAHA
+ COLOR : NATRUAL/BLACK ZHRED,

+ UNIT: mm

N

- 015 -

M12X1.75P

PART NO PACKAGE
KSCW-004 1000

10

31



10

32

FiEi822 Thumb Screw FiFiB%s Eitigs

¢ FLAME CLASS :

+ UNIT: mm

METAL M2X0.4P

METAL
M2X0.4P

¢+ COLOR : BLACK

@210

¢ MATERIAL : PC+ABS(UL)

94V-0/94V-2

Bi&: FiRiR2z, iRFITIRL R/
184y, 12475, EETH.
PART NO PACKAGE
GPEK-11 1000
PART NO PACKAGE
GPEK-12 1000

+ UNIT: mm
e
] ik
PLASTIC | TS

i

w

SELF-TAPPING — |
SCREW @26 + @8.3 =
~— @10+

¢ FLAME CLASS : 94HB
¢+ SCREW MATERIAL: STEEL
+ COLOR : BLACK

PART NO A B PACKAGE
GPEK-13 150  21.3 1000
GPEK-14 55 11.8 1000
METAL
M3X0 5P GPEK-15 8.0 14.3 1000
GPEK-16 23.0 | 29.3 1000
+ PLASTIC MATERIAL : PP FRi&: FEWB2, HiRFITIBL [

122, MONIRLLZEE, HER,
BEER, MEH.

KSCW-020
GPEK-17

PACKAGE
1000




FiEt82 Thumb Screw FiFig%e HEIEL

+ HEAD MATERIAL : ABS (UL) FEig&: FiLiRee, RRFITIR RTE
+ HEAD FLAME CLASS : 94HB 1Ry, W22 R, EETHIE.

+ COLOR : BLACK

¢ UNIT: mm

PART NO PACKAGE
GPEK-19 250

PART NO PACKAGE
GPEK-18 250

METAL
M4X0.7P

+ HEAD MATERIAL : PC+ABS (UL) Big: FeiR%2, OFRFITIRYL ZE
+ HEAD FLAME CLASS : 94V-2/94V-0 w2yy 1By, BT

+ COLOR : BLACK/NATURAL

¢+ UNIT: mm

@11

1.3

1.2
4.28
2.15
rd Y '
i mﬂ ™
({e]
METAL —ofo PART NO PACKAGE
M4X0.7P % GPEK-20 500
+ HEAD MATERIAL : ABS (UL) Big: FiEiR22, tiRFITIRZ, R/
+ HEAD FLAME CLASS : 94HB 18y 182, BEF=.
+ COLOR : BLACK/NATURAL
+ UNIT: mm

PART NO A PACKAGE 10
GPEK-21 8.0 500 .
GPEK-22 | 120 | 500

33




MATERIAL : PC (UL)

FLAME CLASS : 94V-0/94V-2
COLOR : BLACK

UNIT: mm

METAL
4-40 UNC

HEAD MATERIAL : ABS (UL)
HEAD FLAME CLASS : 94HB
COLOR : BLACK

UNIT: mm

e

o
MITHT

2

(o]

—l
METAL =
M5X0.8P = !

HEAD MATERIAL : ABS (UL)
HEAD FLAME CLASS : 94HB
COLOR : BLACK/NATURAL
UNIT: mm

@127

GPEK-25 500

FR&: FieMRL, ARFITIRL, RTE
1Rz, wReex, EETH.

GPEK-23 500

Fig: FiMRez, ARSHTIRL, R
1Ry, 1225, EETH.

GPEK-24 500

FRiR: FieiR%z, BIRFITIRE RE
1Rz, BT, EETHR.

METAL
6-32 UNC

GPEK-27 500



HEAD MATERIAL : PP
HEAD FLAME CLASS : 94HB
COLOR : BLACK

UNIT: mm
METAL
6-32 UNC— | =
@83

HEAD MATERIAL : ABS (UL)
HEAD FLAME CLASS : 94HB
COLOR : BLACK

UNIT: mm

HEAD MATERIAL : PC+ABS

FRiR: FieiRzz, BIRFITIRE RE
1Rz, BT, EETHR.

GPEK-26 500

Fik: FRARLL, FRFITIRL R
gz, WReex, EETHR.

GPEK-28 250

(L) A& FERY, BIRFITIRL R

HEAD FLAME CLASS : 94V-0/94V-2 iBsy, FhEWEys thFRFEIE

SCREW MATERIAL : STEEL

2R, B, EET

SCERW FINISH : ZINC PLATED .

COLOR : BLACK
UNIT: mm

SCREW .
M3X0.5P —“’A

(INSERT MOLDING)

GPEK-35 1000



FiEIZ22 Thumb Screw FiFi2% R{gigs

+ MATERIAL : NYLON 66 (UL) Fi&: FiEigs, thiRFITigs 51
+ FLAME CLASS : 94V-0/94V-2 1222, RFINEREEMZE
+ COLOR : BLACK E, IFE, ~FIH, A&
+ UNIT: mm =N

SCL-1 5.0 1000
SCL-2 6.0 1000
SCL-3 10.0 1000
SCL-4 15.0 1000
SCL-5 20.0 1000
SCL-6 25.0 1000
SCL-7 30.0 1000

PART NO A PACKAGE

SCL-8 5.0 1000
SCL-9 10.0 1000
SCL-10 15.0 1000
SCL-11 20.0 1000
SCL-12 25.0 1000
SCL-13 30.0 1000

PART NO A PACKAGE

SCL-14 7.0 1000
SCL-15 12.0 1000
SCL-16 17.0 1000
SCL-17 22.0 1000
SCL-18 27.0 1000
SCL-19 32.0 1000
SCL-20 37.0 1000
SCL-21 42.0 1000
SCL-22 47.0 1000

10

36



Fitig4% Thumb Screw FiFig%2 E{EigL

¢ HEAD MATERIAL : PP (UL) Fi&: FEEiR22, FRFITIRL R/
+ HEAD FLAME CLASS : 94HB 1242, BFIERBHEZE
+ COLOR : BLACK E, OFE, AFIR, AE
+ UNIT: mm N =52

PART NO PACKAGE

ME TAL SCL-23 1000

M4X0.7P

PART NO A PACKAGE

SCL-24 24.7 100
SCL-26 13.0 100

METAL
M8X1.25P

*

HEAD MATERIAL : PC+ABS(UL) A& FigiRyy, thiRFITEL /T

+ HEAD FLAME CLASS : 94V-0/94V-2 1R22, AFHIERZREGZE
+ COLOR : BLACK E, OFE, FFIE, A®E
+ UNIT: mm B,
13
m~ ~
4 & PART NO  PACKAGE

METAL N SCL-25 1000

M3X0.5P —l
+ HEAD MATERIAL : PC (UL) FAi&: FiEiR42, MIRFITIRYL R
+ HEAD FLAME CLASS : 94V-0/94V-2 1822 BAFINEREREZE
+ COLOR : BLACK B, FE, XFEIR, H&E
+ UNIT: mm ANBsE,

© PARTNO  PACKAGE 10
l SCL-27 1000

+
o0

i

STEEL i
M3X0.5P i

37



Y
B
s,
=

10

38

hEsHIRLL Screw FiTIRYE RTEIRLL

FR&: hEHiRe, tBFRFITIR RTE

+ MATERIAL : NYLON 66 (UL)
¢ FLAME CLASS : 94V-0/94V-2
+ COLOR : BLACK/NATURAL
¢+ UNIT: mm

6-32 UNC f

THREAD

1242, BTEEFRGCE
%, EBR, mEH, JBF
e, —RATHENINGZ
EE.

PART NO C PACKAGE

KMS-1 5.0 1000

KMS-2 6.0 1000

PART NO A B C THREAD PACKAGE
KMS-3 9.0 6.9 9.8 6-32 UNC 1000
KMS-4 10.6 7.2 9.6 8-32 UNC 1000




FiEi2Eg HAND SPIN NUT FiFi28

+ MATERIAL : PC+ABS (UL)

+ FLAME CLASS : 94V-2/94V-0
+ COLOR : BLACK

¢+ UNIT: mm

THREADED
STEEL INSERT

Fig: FEBE, BTINEREEN
ZERE, JFE, FFIE,
T AR,
PARTNO  THREAD PACKAGE
LM3-GP | M3X0.5P | 1000
LM4-GP | M4X0.7P | 1000
LM632-GP | 6-32UNC | 1000

10

39



RN OSSN

1.LED[a)fRtE

2 LEDSSHE LEDS¢2 LEDEE
3.LEDEE LEDEEE LIHMENTE FeLTRE
4.90°LED)TRE 45°LEDXT B2

5. PCixiEfRtE PCHkPREE

6. EBRHEME Bl AR BREE EE SYREEE BIREREE PCIREEERE
EE BEiRiREE SEREE

‘%IJ_

7. HEEEE BHMEREEREE HELEET EE4iR BEEERE HeEERE A EER
FLEEIERE BRRELEIERE AR B ErE L EIE] REEERE T8 EEIERE XI5 RARE
FELFEERE

8. PCIRIHT BE&MERILT PORIEREERT Sith BfERER A Wit SR Wids
PRBGZLEE (RIG24EE FRzUFB LRk [imin 1 SHEEIROR T /ELIE inF e RIEELK B

9. (uGRHIH FEHTUHIE 1222 ETERIED B FURMIER HERHIE A BRI (RIE
HIER-SHERIZ BB RIEE) RIE A BRI

10. Eplings BRIRey BRVVERIZS YERIZNG YERNRIE MRS IH(TIRY XTRIRET I
iRz 1ReLNEEs FAEIRY FITIRYL (RI0IR: FRE FTIRE

11. PCHih PCIREHE PCIR S4E EBESIR S5 PCBSHVIE B\ 54 BISIRSH

12. RAEE BREAE SRERA BRINES BINSEE BRIRE T-O3RINERE AXS
fRE A By 4F) By TO-2208R (NS EE SEFERRIREE FRRIREE IRFRIREE ZE/RERIAEE FERRIE
EVRBRSHER INRBAER BFEEER RAEEEEH i BRAREE
REIREX



PR RS T E R

13. Ay B 467 AR BANIEE BARETE BANE BAEINE E&ur
E HRIEE

14 3BIFEREARE ERFRIRIFREE {RIFEEMHRS PIRFEFHES

15 ETHR A TR BB 7] TR ICEE RN DheRrE KB ToRass A
it R Rk PGRE R IKERIPER R BREE BREERH SRR R

16.I0RICE HERE (RIS XS RS S5 BihE KREE KRR FRIPEPC
IR FPE BIV\E RifEfei0 LBEERE DRAMEIET +FEUHEG=(EEsS HiBEESS

17 712 Nz0FLZE MNT0EEL DVIRhEE 1R22 7 FL28 1RZ2ZRL BaF3

18.EREAT FREEIESR AR IRAKE IR FFOZUMER IRIREER FERRER BRI 4%
N REAPEAR TTRUPEIR UBNPEIR URIPEIA BimEh MRS RiEHE TIRSI AR
22 TR IRFRRPREE ESENFEREEL ESTEENEET

19485 NAEIBF (LE8 T MHAEIET MHHEme SO0 SMERmE SHEsME
20.fHEN%E FHIERS RIPiNke

27 BB BRSBTS FLLk IRt BREL TS KRR LR L0 Bk
I Hhee

22.USBEEIPEE USBim{RIFEs USBimBAAE MICRO USBRAZEE MINI USBREEFZ=USB
Type-CRh4as USBRAZaE RJ-45F5425 R)-11F5405 RJ-12B543s RJ-22F53 HERIESL
BhEs FRIRIESLIRIPEE B RiRSLBn AR RE B RiESLIAES Y ATEEssirDs MEEesirE
ST S PCIREFIERhA 3 HDMIBGZA 3 Mini#{iim FRhdss (S E AR =BBULS
43 DVIBGLeEs %8855 SIM Card CapBhacss SDBaE= KVMBLEEs CRiaE Bhass i
FE SIEFE TEIHTE BNCHSEE SATARGAE ESATAZ DPIsFIHAZE Mini
D.PE{iimFBh4E D.Typefidz VGARsLE IDE Connectorfids PCliFEHAE im T
BEAEE 13%4inFhhds B BIRE VTWREBIRMRIFES 1EZE5EE PCMICRARIPE EiR
DDRB54AEE D-SubfRiFE SERG4EE SDRIFEE Micoro SDR{RHFE SIMR{RIPE Bo7KIE
= IEEEET Bh7KE FBBANXEEEEIRES BN eSS FERNXSIE S BRiNXIEISZZR FFX
AR ST ERREE



PR RS T E R

23 5 V5T FEICHNET SRLLDET BURAIPET YERINET ERARXUSSHNET BUAA IO SEE
TTIRLL[EIERE fAKIZHE 2R TIREEITIKE IBHEERE GEREERE

24BN THOFFR S JINFF K SHEEEE N R0 [ HORIER REEKITH0

55.TB &N TH #O%RE0 iElinT T A Er kit IHesinF T eg5inFrTe



LEDjEIFRHE

LED SPACER SUPPORT

0 1.LEDIRHE

PCHRIEJRRAE

SPACER SUPPORT

i

PLASTIC FOOT

A7 E

MAGNET PLASTIC FOOT

BRI

RUBBER FOOT

HERIEY/ SRR

GOLD / SILVER COVERING FOOT

RIS RREREC

CAPACITOR WASHER

LEDS¢thE

LED PIPE

BHREE

FEMALE-FEMALE STANDOFF

ROUND SPACER

SSeRimEtE

PILLAR SUPPORT

SHRERE

SPACER SUPPORT

L GElE A

NTC THERMISTOR SENSOR
HOUSING

14 2 BIFEREEE

LEDEE

LED HOLDER

B TR R ST

HeLk/FB L E ERE
FLAT CABLE CLAMP.

HEIERE

TWINST LOCK

FEEIERE

CABLE TIE MOUNT

%, SRS

FAN CABLE TIE MOUNT

PCHRALIR

CARD PULLER

PCIRSHE

CARD GUIDE

B SHE

CARD GUIDE

FBFEBREBRY R S T

IET A
il
Bpsbp

SHOULDER WASHER

PCHREL

PCB WASHER

et

WASHER

90°LEDJTEE
90° LED HOLDER

LEDATE

LED MOUNT

TRANSISTOR CLAMP

PCHiim =

PCB TERMINAL

Eeaiiay

GROUND TERMINAL

M/ MiaEt

TESTPIN

RIAENERE S

TRANSITSTOR COVER

RN RS

INERICE

POWER IC COVER

FR=

TACT SWITCH CAP

KRR FRIFE

TERMINAL SOFT SLEEVES

TR0\

SPEAKER HOLDER

B ER AR

16.I0=ICEH


http://www.kyphe.com/538/2325.html
http://www.kyphe.com/539/2717.html
http://www.kyphe.com/539/2718.html
http://www.kyphe.com/539/2719.html
http://www.kyphe.com/540/2721.html
http://www.kyphe.com/540/2722.html
http://www.kyphe.com/544/2723.html
http://www.kyphe.com/547/2725.html
http://www.kyphe.com/540/2724.html
http://www.kyphe.com/545/2726.html
http://www.kyphe.com/540/2727.html
http://www.kyphe.com/543/2728.html
http://www.kyphe.com/548/2729.html
http://www.kyphe.com/548/2730.html
http://www.kyphe.com/550/2731.html
http://www.kyphe.com/541/2732.html
http://www.kyphe.com/539/2720.html

L E AL F
HOLE PLUG RAANDES

N=FLE FAEIEF

HANDLE

E) sty

27|72 7 & A \Y  simiepE

SCREW HOLE PLUG BOX PLASTIC FOOT

I=%7:i3) &2

TR Ry-4spdE Ol KEEET IR

> PR IREER A BRI SEE[EITERE

ver i / HEAT SINK RIVET SPRING POSITION MOUNT
ifelel

SREL[E| ERE I TR
: \s PLASTIC CONICAL ANCHOR ~ DOOR LOCK TIP.

B FERIREBR RS T FBFEBREBRT R ST TR A ST BT RRERASTM

PASTI FARDYARES

va 24. JH0FFK

e

S92 22.USBREEiZS

PEN =Y %3]

EFENERASTH

i

N P
v

it ’

REREIRAT

| BRFHREER

AATHRERRELH, FETFAREFEKE [RANKITEEI], A=mBRATHINF
MEE, TREMIBRIKIE. EREBNXNSHERZTHREENGNAEERMNE.


http://www.kyphe.com/541/2733.html
http://www.kyphe.com/544/2734.html
http://www.kyphe.com/553/2735.html
http://www.kyphe.com/549/2736.html
http://www.kyphe.com/544/2737.html
http://www.kyphe.com/541/2738.html
http://www.kyphe.com/550/2739.html
http://www.kyphe.com/553/2740.html
http://www.kyphe.com/555/2741.html
http://www.kyphe.com/538/2325.html






